
     f zeaezk

If the ozg unable to write a daezk, he may give her guaranteed
items (against loss or theft), until he is able to write a daezk.

An animal whose spinal cord is split is considered a dtixh.

There must be at least ten men in order for zekxa dray to be
said.

A man who marries a dleza has seven days of zekxa ray (during
which, he may not work). A man who marries a dlera has three
days of zekxa ray (everyone agrees he needs to be gnyn with
his new wife for three days; regarding zekxa dray there are
different opinions, and a Rav should be consulted). If he himself
has never been married, some say they observe seven days as
well.

A person cannot be dpwn to someone who is not in the world.
therefore, it is xeq` to be dpwn to a fetus. mixne` yie, a rxn aiky
can be dpwn to a fetus.

oiqex` zkxa has a dnizg­­dteg ici lr l`xyi ycwn 'd dz` jexa
oiyeciwe.

zekxa dray are not said during the dzyn ini zray unless there is
zeycg mipt­­a new face. aeh meie zay are considered zeycg mipt.


